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@ 2ol WA (random walk process)

- dEQ| = dYBHNAH y, =y, 1+e;,, e,~WNN(0,1)

- HBEO Y= YA YNy, =0.2+y,.4+e,yo=0e~WNN(0,1)
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® XHJ13lH A (AutoRegressive process)

Ye = dy,_1+e., ee~WNN(0,1) (AR(1))

Ye=P1Ye1+ -+ PpYipte,yo=0e~WN N(0,1)(AR(p))
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AR(1) 2 y(t)=0.97y(t-1)+e(t) Y(O=-0.9%y(t1)+e(t)
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AR(2) - y(0)=0.9%(t-1)-0.5%y(t-2)+e(t) AR(2) - y(0)=1.4%(t-1)-0 6%y(t-2)+e(t)
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@ 0| =T =2 A (Moving Average process)
yt == et + eet_l y etNWN N(O, 1) (MA(].))
Yt = € + elet_l ..t qut_q, et~WN N(O, 1)(MA(q))
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® X138 H 0l =SH S (ARMA process)
Ye = P1Ye-1— "~ PpYtp= €+ 6016 4..+ 046, 4, e,~WN N(0,1)(ARMA(p, q))

® A8 A 20/ SH 2 A (ARIMA process)
Ay, — 18y 1 — - — PplAYy = €+ 01611 ..+ 04,4, e,.~WN N(0,1)(ARIMA(p, q))
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